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1. Read the sentence. 
 

Andy _______ his favorite shoes. 
 

Which word best completes the sentence? 
 

A. choose 

B. chose 

C. chosed 

D. chosen 

 
 
2. Read the sentence. 
 

Stewart and Amare __________both trumpet players. 
 

Which word best completes the sentence? 
 
A. am 

B. are 

C. is 

D. was 

 
 
3. Read the sentence. 
  

There is a funny story in ________ newspaper. 
 

Which word correctly completes the sentence? 
 

A. todays' 

B. today's 

C. todayes' 

D. todaye's 
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4. Which sentence is written correctly? 
 

A. The movie was bored to me. 

B. She sang real loud in the shower. 

C. It became sunny in the afternoon. 

D. He thought the book was very interested. 

 
5. Read the sentence. 
 

Many people today drive their cars less often ________ the cost of gas is too high. 
 
Which word or phrase correctly completes the sentence? 

 
A. but 

B. in fact 

C. because 

D. even though 
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6. Teri is writing a paragraph about how to make homework easier. This is the 

paragraph so far. 
 

First get ready to work. Gather everything that you need, such as your notebooks, 
books, and pencils. Eat something if you are hungry. __1__ find a quiet place to 
work. While you work, do not stop to talk or play a game. However, ask for help if you 
need it. __2__ check your work. Then gather your belongings and pack up. Now you 
are ready for tomorrow. 
 
Teri needs to add some words to link ideas and make the paragraph better. 
 
Part A 
 

Which word would best fit in blank 1? 
 

A. But 

B. Instead 

C. Next 

D. So 

 
Part B 

 
Which word would best fit in blank 2? 

 
A. Finally 

B. For example 

C. Still 

D. Yet 
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ANSWER KEY: 

1. B 

2. B 

3. B 

4. C 

5. C 

6. Part A—C  

Part B—A  

 


